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3. Apmeressive wave & mpresented by v =125in
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An elactmonof mass “m’ hes de-Bmglie wavelensth ), " whanzcrelereed hough potential
difference V. When prown of mass "M, is sccelersed though poential diffese nee "534,
the da-Eo ghe weielengthessoc izted with irwill be [ Assume tharweekngh isdee mine d
st lowvoltase)
A pr
A T B)
ilm

Interfpence fringes ere poduced on 2 scmen by wins mwo lizht sowmesofintensities T and
3

M O .
m S T )

b6

=

1 Afm A om
3

“50". The phase diffeence berweenthe beemsis 7 srpoint P 2nd m atpoint( on the scmen.
The diffeence between the resulant e nsities EtpointFand Qs

Ay 21 B) 41 Ci 61 Dy EI
Which of the following quantity does MO chanze due to damping ofoscillations 7
A) Ansulerfmguency E) Time pedod

Q) Inirial phase D} Amplimda

. Hthe end comection of znopen pipe is 0.8 cm then the mner radins of thet pige will be
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4y cm. Onthis wave, how far eway

e the two points having phase differmnce of 50° 7
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Two peris les of masses "m"and “5m’ sre separeid by adistance 'r'. At 2 pointon the hng
pining them the gravitationzl field & zem. The gravitadonsl potential at thetpointiz
(G =Univezslconsentef grevitetion)
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. Ablackmciangularsudaceof zma"A'emis enersy E' persecond a1 27%C Iflensth and

I
bmedth erereduced w —  of itizl value and emperane i= mEed o
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The schematic symbol of light emittingdio de is [LED)
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. The emountof workdone in inceesing the voliage acmss the plaes of capacitorfrom 5W to

10Wis “W'. The work done inincmeesing & from 10V o 13W will ha
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